



Jury Selection Circuit Court

2/13/2026

This Agreement is between

Madison County Board of Supervisors

125 West North Street
Canton, MS 39046

and

Academic Technologies Inc.

209B Industrial Dr.
Ridgeland, MS 39157 US
601-427-3587
www.academictechinc.com

Pricing Summary

Equipment:	\$29,848.95
Misc - Connectors, wire wrap, and labeling:	\$716.43
Installation and Programming:	\$8,936.44
Grand Total:	\$39,501.82

Client accepts this Quote inclusive of its Scope of Work, Pricing and Payment Terms. Contractor agrees to furnish the equipment and materials listed and perform the work in an expedient, workmanlike and professional manner.

Client:

Date:

Contractor: **Academic Technologies Inc.**

Date:

Item Details

Selection Room

			Unit Price	Price
2	Academic Technologies Inc. Cat6 cable run, Cat6 data drop		\$170.00	\$340.00
1	Academic Technologies Inc. Custom AVPlate, 2 XLR Female. 1 XLR Male, 1 3.5mm wall plate		\$250.00	\$250.00
1	CHIEF XTM1U, X-Large fusion micro-adjustable tilt wall mount		\$374.53	\$374.53
300	Crestron Electronics DM-CBL-8G-NP-SP500, DigitalMedia 8G Cable, non-plenum, 500 ft spool		\$0.50	\$150.00
2	EXTRON DTP HDMI 4K 230 Rx, HDMI Twisted Pair Receiver - 230 feet (70 m)		\$347.99	\$695.98
1	EXTRON RSU 126, 1U 6" Deep Universal Rack Shelf Kit		\$109.20	\$109.20
1	EXTRON TLP Pro 725T, 7" Tabletop TouchLink Pro Touchpanel - Black (Black)		\$1,467.40	\$1,467.40
1	KRAMER ELECTRONICS C-2RAM/2RAM-6, Audio Cable, 2 RCA (Male to Male) Connector - 6'		\$5.50	\$5.50
1	KRAMER ELECTRONICS C-A35M/2RAM-3, 3.5mm (M) to 2 RCA (M) Breakout Cable - 3'		\$8.80	\$8.80
4	KRAMER ELECTRONICS C-HM/HM/ETH-6, HDMI Cable (Male to Male) with Ethernet, 6'		\$17.19	\$68.76
1	KRAMER ELECTRONICS C-HM/HM-10, HDMI Cable (Male to Male) - 10'		\$16.00	\$16.00
2	KRAMER ELECTRONICS C-HM/HM-3, HDMI Cable (Male to Male) - 3'		\$11.50	\$23.00
1	Middle Atlantic PD-915R, Rackmount Power, 9 Outlet, 15A, Basic Surge		\$146.66	\$146.66
5	On-Stage Stands DS7200B, Adjustable Height Desktop Stand		\$39.00	\$195.00
1	RDL TX-J2, Unbalanced Input Transformer - Unbalanced stereo inputs to summed balanced mono output		\$72.50	\$72.50
1	Samsung Pro AV QB85C, 85" Display any content in ultra-high definition with incredibly rich color on slim, efficient signage		\$3,450.00	\$3,450.00
1	Shure MX418D/C, Cardioid-18" Desktop Gooseneck Condenser Microphone, Attached 10' XLR Cable, Logic Functions, Programmable Switch and LED Indicator, Attached Desktop Base		\$318.89	\$318.89
16	Sonance PS-C63RT WHITE, 6.5" Professional Series In-Ceiling Speaker - White (each)		\$181.25	\$2,900.00

300	West Penn Wire-cdt 25291B, 2 cond. 22 (7x30) bare CMP	\$0.14	\$42.00
-----	---	--------	---------

Selection Room Total	\$10,634.22
-----------------------------	--------------------

Rack

		Unit Price	Price
1	Academic Technologies Inc. Custom AVPlate, 2 XLR Female. 1 XLR Male, 1 3.5mm wall plate	\$47.03	\$47.03
1	C2G 27142, 7Ft Cat6 Snagless Unshielded (UTP) Ethernet Network Patch Cable - Blue	\$4.69	\$4.69
1	EXTRON DMP 128 Plus AT, 12x8 ProDSP Digital Matrix Processor with Dante	\$2,206.25	\$2,206.25
1	EXTRON DTP HDMI 4K 230 Tx, HDMI Twisted Pair Transmitter - 230 feet (70 m)	\$347.38	\$347.38
1	EXTRON IPCP Pro S1 xi, IPCP Pro xi Control Processor	\$650.00	\$650.00
1	EXTRON NetPA U 1004-70V, Four Channel Dante Amp, 100 watts at 70 volts	\$1,962.50	\$1,962.50
4	KRAMER ELECTRONICS C-HM/HM/ETH-6, HDMI Cable (Male to Male) with Ethernet, 6'	\$17.19	\$68.76
5	KRAMER ELECTRONICS C-XLQM/XLQF-3, Quad Style Audio Cable, XLR (Male to Female) Connector - 3'	\$8.25	\$41.25
1	KRAMER ELECTRONICS VS-211x, Automatic HDMI Standby Switcher	\$333.44	\$333.44
1	Middle Atlantic EB1-CP12, 12PC. EB1 Contract Pack	\$101.54	\$101.54
1	Middle Atlantic RFR-1628GE, 16U RFR Series Reference Furniture Rack	\$1,202.28	\$1,202.28
1	Middle Atlantic TD3, 3space Textured Drawer	\$194.72	\$194.72
1	Netgear GSM4210PX, 8x1G PoE+ 220W and 2xSFP+ Managed Switch	\$886.25	\$886.25
5	Shure SB900B, Shure Lithium-Ion Rechargeable Battery	\$106.70	\$533.50
3	Shure SBC200-US, Dual Docking Charger with Power Supply	\$252.50	\$757.50
5	Shure ULXD2/SM58=-G50, The ULXD2/SM58 Handheld Wireless Microphone Transmitter works with ULX-D Wireless Systems.	\$558.75	\$2,793.75
1	Shure ULXD4=-G50, Single Digital Wireless Receiver with PS41US Power Supply, 1/2 Wave Antenna and Rack Mounting Hardware	\$1,035.00	\$1,035.00
1	Shure ULXD4Q=-G50, Quad digital wireless microphone receiver, include Dante interface	\$5,750.89	\$5,750.89

600	West Penn Wire-cdt 25225B, Two conductor/unshielded 16/2 awg Plenum CMP audio cable	\$0.37	\$222.00
8	Zero Connect 6M120-006, Zero-Connet 6' Black Thin patch cable	\$9.50	\$76.00
Rack Total			\$19,214.73

Project Subtotal:	\$29,848.95
--------------------------	--------------------